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1. 对称矩阵� = � 3�� �� ��−2� − 1 5� �2� � − � � + 1�, 求�, �, � 

2. 若 ���� = � 8−3� , 求�, � 

3. 若� 2� −20 � − 1� + 2 4 � = �6 −20 3�� 4 � , 求�, �, � 

4. � 5 10 2830 9 7 � + �22 19 326 12 23� = 

5. 已知A = �−1 3 72 6 10�和B = �5 −2 41 3 9�，求 

a. A – B 

b. A + (-1)B 

c. 并证明 A -B = A + (-1)B 

6. 已知A = �3 −26 5 �和B = �3 −69 4 � ，证明 

a. 2(3A)=6A 

b. (3+5)A= 3A+5A 

c. 2(A+B)=2A+2B 

7. �3 6� �81� 

8. �−2 5 7� �310� = 

9. � � 2�3� −�� �37� = 

10.  � 3 −15 2−2 0 � �16� = 

11. �2 −13 6 � �−3 45 0� = 

12. �1 3 42 5 −10 −2 6 � �521� = 

13. 已知 � = �2 −2 4�, = �0 1 2�, ! = �501� , " = �−1−12 �，求 

a. 5CA 

b. (A+B)(C-D) 

c. AC+BD 

d. 5AC-(2A-B)D 

14. 已知� � �−8 5� = �1 �# 3��
求�, �, �, # 

15. $ 3 � + 2�3� − � �� % = �3 102 8 � , 求�, � 
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16. ��� − � + 1 70 �� = � 7 7�� − 7� + 12 �� , 求� 

17. �3 −25 6 � − �2� �−� #� = �8 12 4� 

18. & � '(2� 6) = �2 + 2� 53 #� + �4 −32 3 � , 求�, �, �, # 

19. 已知A = �2 −74 5 �，B = �−6 15 0�，C = �8 12 −3� ， 求 

a. A+3B+2C 

b. 3C-2A+B 

c. C-3(A-2B) 

d. 4C-(-2A-3B) 

20. 求未知数 

a. �3 76 1� − 3 �� 25 −�� = � 4 2�5, 7 � 

b. �4 8- 0. 5� + 2 �� 26 �4 �� = 6 /2 '(5 20 80 

21. 求矩阵 A 

a. A – �2 03 −1�=2�4 30 −1� 

b. � 3 5 0−1 1 −2� + 2� = 2 �2 3 −13 2 4 � 

22. 解 

a. �−6 32 −5� �13� = 

b. �−2 73 −1� �4 −10 5 � = 

c. �−52−2� �2 −3 0� = 

d. �2 −3 0� �−52−2� = 

e. �5 −21 3 � � 3 2 0−1 4 −6� = 

f. � 3 2 0−1 4 −6� �1 2 −40 −2 35 0 4 � = 


